CBSE Class 12 Biology Question Paper 2019 (March 15, Set 1 - 57/1/1)
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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(i) There are total 27 questions and four sections in the question paper. All questions

are compulsory.

(ii) Section A contains questions number 1 to 5, very short answer type questions of

one mark each.

(iii))  Section B contains questions number 6 to 12, short answer type-I questions of two

marks each.

(iv)  Section C contains questions number 13 to 24, short answer type-II questions of

three marks each.

(v) Section D contains question number 25 to 27, long answer type questions of five

marks each.

(vi)  There-is_ no_overall choice in the question paper, however, an internal choice is
provided in two questions of one mark, two questions of two marks, four questions
of three marks and all the three questions of five marks. In these questions, an

examinee is to attempt any one of the two given alternatives.

(vii)  Wherever necessary, the diagram drawn should be neat and properly labelled.
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Qug — 3
SECTION - A
foram =61 STTafmEhifog LE. T 3 SATATRTS bl TGRIA hid o [T Teh T4l 3@
Torehl¥Td TohaT | Tohell STTATRTSh Hehul o FHTS TIUMH <hl TUMET (3TH) 1 Jeei@ shilaT | 1

British geneticist R.C. Punnett developed a graphical representation of a genetic cross

called “Punnett Square”. Mention the possible result this representation predicts of the

genetic cross carried.

Sfter bt Icdix o Hee H g TI¥=’ g fohT 71T ST & T g Jq@ I forfe | 1

State the two principal outcomes of the experiments conducted by Louis Pasteur on
origin of life.

THUSH o 30 &L o1 T feRae Sit 31=s1 30T & 91 Jog 2 | 1
ST

39 dehrilehl 3eg T AT TeTRIT TS&eh1 IUAM Th 99 9&1 W I 11 3Alichs hl HY
R HEY 1 AU i H BIa1 & |

Name the layer of the atmosphere that 1s associated with ‘good ozone’.
OR

Mention the term used to describe a population interaction between an orchid growing
on a forest tree.

dTiad Ul o [¢dieh STER o S Icde “SHiulsh’ FIT 8 7 1
SR
fopegl UH e TIMT o ™ TRae g - e ge6d 2 |

What are ‘flocs’, formed during secondary treatment of sewage ?
OR

Write any two places where methanogens can be found.

ST T aTet Sftat | i =15k <l fopd srawen o Jrefest faaem a1 8 2 39 YR S
3G o AT I 3eei@ iU | 1

At what stage does the meiosis occur 1n an organism exhibiting haploidic life cycle

and mention the fate of the products thus produced.
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0.

gug —§
SECTION - B
3 YT AT 3TT6] kT hiAH HHT HL & & | TH § TohEH TagE =101 hl STTa9dehd!

gl TR AT ? 319 A1 bl il W AT hil | Teh HRY ¢d U e FdT3T | 2

You are conducting artificial hybridization on papaya and potato. Which one of them
would require the step of emasculation and why ? However for both you will use the
process of bagging. Justify giving one reason.

7. SF YaTE 31YET AR AUAE (SHicsh fgwe) Tt amfy ot e gvifad e @ forem
ST H © hig Ush TshH o &1 8l 7 2

NI VEZ NWFAS» 5100 MOLLYHIFYES [WTAH = G100 MOILY MINYE 3 WRAH « STOG FEDLLY.

IFIF X3 TLAE = GI0E HOILY

NEAH= STE HOLLYMIFYET T

HOLLFMIFIVES TFIAS = SL0C MO ILFHIFIVES TEAH « 510 MOLLY HINYE 2 AT 6TE MILLTHIFYII

How would the gene flow or genetic drift affect the population in which either of them
happen to take place ?

8.  TTceAT STMHAT Icd~ i H “SI—AHIBII qUT “EN—AHNBI’ ehl YHehI H fadg hIfwT | 2

JRAAT

SepTeh (Ul b1 TG TicRetT aF <l “Fid’ o 0 G YA & | Teh qqfod 3qratul <hl

GERIAl | S <hi g8 hif |

Differentiate between the roles of B-lymphocytes and T-lymphocytes in generating
IMmmune responses.

OR

Principle of vaccination 1s based on the property of “memory” of the immune system.
Taking one suitable example, justify the statement.

9.  ToIvTO] Hshitd shet b U | TI¥A UTGUI b G4 H “QUISTeAdl” dAT “HIHTFAN’ hl IR

1 SUME HITIT | 2

Explain the relevance of “Totipotency” and “Somaclones” 1n raising healthy banana
plants from virus infected banana plants.

10.

57/1/1

STTUF § G949 a3 shl T9atar fhd TepR §491T Wt ATdl & 3T 7 2

How 1s a continuous culture system maintained 1n bioreactors and why ?

4
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11.

12.

13.

14.

57/1/1

HH 3T ST b T Sit TH 3T b I H UTed gl dTel AR ATHT <hl Tt sAT3T | 2

List any four ways by which GMO’s have been usetul for enhanced crop output.

Teh &Y UTHAA JGH i JTell IR HEaqUl AT Sl 3ecid hifwd | 2
3TLET

Teh ICTEW0T <hl FETHAT 8 YHIUTG ShifoTU foh Teh UTida § HaIgehTIE <l (i) T Tk BIdT 2

qAT (i) T8 S farfererar s1@ 1 ueh Tq@ SRy +ft 2 |

Mention four significant services that a healthy forest ecosystem provide.
OR

Substantiate with the help of one example that in an ecosystem mutualists (1) tend to

co-evolve and (11) are also one of the major causes of biodiversity loss.

gig — §

SECTION - C

U] Te9e § 91cT 3T ShRishH o 3194 H W WeR (seh) Teh 3TcId Hawaqul Yiehl 41
2 | YT Soh 5 -GLRThUT <hT NI Tohe TohR TRt ST @ 2=t ShifSu | I8 Sk 8HIR
TeRETI bl Teb Tl TR AT UEAT L@ & 7 ohls G aiieh TOTRIT | 3

Pollen banks are playing a very important role in promoting plant breeding programme
the world over. How are pollens preserved in the pollen banks ? Explain. How are

such banks benefitting our farmer ? Write any two ways.

J&Y[ o S a3 H Tol7T T8I IR Aciehl 3l o TAHaH ohl G o ToTU ATHTIhd TRE 13T | 3
GO

qeeh Torehrd <hl Taly= 3TaEr1al, Wdalig aun TSicer] hl TaiH= 3Ta€A13T sl ¢3lid 3U &
TSI hl TG T2 1 W ST |
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TIFIAS « STOE HOLLY

NI ¥EZ NWFAS = 5100 MOLLYHIFYES [WTOAH = G100 MOLILY MINYE 3 (RAH  STOG FEDLIVH

IFIF X3 TLAE = GI0E HOILY

HOLYEONYES TTLAS « G100 MOLLYHIN ¥Z3 UIE « 610G FIOILTH

{FI&E = STUE HOLLVH

NEAH= STE HOLLYMIFYET T
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Draw a labelled diagram to show interrelationship of four accessory ducts in a human

male reproductive system.
OR

Draw a sectional view of the human ovary showing the different stages of developing

follicles, corpus luteum and ovulation.

15. €A 3R FEd g Yiddricd SRIrTid k1 shiAIEH 916 <hl Hedl g1 Hel s Ui W T 71U
ST € 9o TROTHT € 1 TohR (STTURT) " o1 ST | 3

SR

(2) 1.9, AW g SEIhAT HATRET T foht 0 Hehior T & Y&IUN o MY’ W
3eh g T&ATieId Her=al T G ohl AT ehifaiT |

(b) Tcths Tlide GRI S ITThHUT SATEAT Sl YR TTRIT |

Compare 1n any three ways the chromosomal theory of mheritance as proposed by

Sutton and Bovery with that of experimental results on pea plant presented by Mendel.

OR

(a) Explain linkage and recombination as put forth by T.H. Morgan based on his

observations with Drosophila melanogaster crossing experiment.

(b) Write the basis on which Alfred Sturtevant explained gene mapping.

16. Yidehid Tg3E hl YR H SITAT Ficishid TishaT shl SAREAT hifWT | SITAT Ficehid fgema |
TSAT3H SITAT ATSIST hl T Y(HehT § 7 3

AT

39 ITIEA Iohlg h1 ATHIhd ITRE SHIST fored i UeRid TRTAT WU h @ 33T
2 | 39 TA1EH o1 g0 A foiRau fSee 39 31w 1 s1fvrer@ R 2 |

ATGCATGCATGZC
FI—LL'—LL'—L'—I—I—I—

CEW 34-[\]1?3

S
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18.

19.

57/1/1

Explain the mechanism of DNA replication with the help of a replication fork. What
role does the enzyme DNA-ligase play in a DNA replication fork ?

OR

Construct and label a transcription unit from which the RNA segment given below has

been transcribed. Write the complete name of the enzyme that transcribed this RNA.

ATGCATGCATGZ C
FI—L'—'—LLL'—I—LI—I—

“RNA molecule”

:

(a) BMEI Fe qUT 8HI BT H & A TARaT |
(b) TETTRIA AT HIcti ! T8l (Yaehlal) H &G o HTHRI hH H I :EATUT hIfT ;

IS B, FIECIA, ST | 3

(a) Write two differences between Homo erectus and Homo habilis.

(b) Rearrange the following from early to late geologic periods :

Carboniferous, Stlurian, Jurassic.

SHETOAT o 36 = <6l A8 TeTRae ST g4 =kl gal | qiafdd s ed 8 | 39 JTshaT & sk <hl
STEAT I, | TR oh ST ehl Teh 3T ATHH R TishAT fTRay | 3

Name the group of bacteria involved 1n setting milk into curd. Explain the process they

carry 1n doing so. Write another beneficial role of such bacteria.

QYAFE! ITetd 3T S@H o1 Teh 3751 3TN 8 | Thel AYARG! ITai ob ol €19 T dTel
TSI (IAUM) =l TR | 37 WA TS bl A TeTRay FHehT 36 1 o ToTC |14
39T SR ATAT § | 3

Bee keeping practice 1s a good income generating industry. Write the different points
to be kept 1n mind for successtul bee keeping. Write the scientific name of the most

common Indian species used for the purpose.

P.T.O.
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20.

21.
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(a) hicTH-A T TU SHETUSAT T THA™ hictd-B | QT 77T 341G | shHiT |

HicH — A HIi1d-B

(H) UHEIfora™ A1een (i) wfes

(1) CTShISHI ict IdH (i) UIHA

(J) TR GRS (iii) fcrsiiaeh

(K) ShUHEds afadus (iv) dRatiaiea-1

(b) ‘feo@ =i o ag-o2 fog &l sH I & 7 3
(a) Match the microbes listed under Column-A with the products mentioned under
Column-B.
Column — A Column - B
(H) Penicillium notatum (1) Statin

(I) - Trichoderma polysporum (1) ethanol
(J) Monascus purpurea (111) antibiotic
(K) ~ Saccharomyces cerevisiae (1v) Cyclosporin-A

(b) Why does ‘Swiss Cheese’ develop large holes ?

3! 3TR-a (EcoRI) a1 TshaT GRT YIS SITAT HHIUT <hi JTshAT ST GUH hiTal | 3
3TET

FEI3TR dehrteh ST IUANT hid U ‘AU STH’ o Ja4T TshH 1 JUM <hITT |

Describe the formation of recombinant DNA by the action of EcoRI.

OR

Describe the process of amplification of “gene of interest” using PCR technique.
[=] 45 [=]

| I“

[=]
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23.

in
=
b
e |
-
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AU AR W § Ta g o= ‘A’ 9T ‘B’ SFeh! A haS: 4 99 Td 5 a¥ o,
FafercaTer™ (3T9IATe) 7T | “ETfeTehT-A’ <hl TSTSH YiaeATae fafercdt <hi 8 e 39 [giia
AU T YA A hl TCATE & T | Aa(oh “STicTehl-B’ i Tafehcar i T foom 39 fafehe
2d 9 3T <hl ATawehal Tal o | 3

(a) 39 U ol 9 TARIT TSEH T STieTohle Tfed off |
(b) STABI-A’ i G T8 T Thcd H 3H TR-TR IHATA S <hl ATaThal o4 of ?
(c) “STieThI-B’ hi TATE T {ehcdl Tohd JehR ohi T8 7

Two children, A and B aged 4 and 5 years respectively visited a hospital with a similar
genetic disorder. The girl A was provided enzyme-replacement therapy and was
advised to revisit periodically for further treatment. The girl, B was, however, given a

therapy that did not require revisit for further treatment.
(a) Name the ailments the two girls were suffering from ?
(b) Why did the treatment provided to girl A required repeated visits ?

(c) How was the girl B cured permanently ?

S Tt b siTel T (TR -H1g ) FXE0T b ©: AT <hl F=l §A13T | 3

List six advantages of “ex-situ” approach to conservation of biodiversity.

I8 °h TSIE[eh Ueh dTeTs YHUT o S0 W] 9T AT<3Tied [SRe ST & ] <@ ¢3ish
3Tcd giNd / T Ticd 8 | 3

(a) i T o faameff 89 o AT 91 319 39 39 3MEIE § Tgad & ¢ 379+ 3T i g
& JH10T GITT |

(b)  SIATA bl 38 YhR Jheg o HIUT Shl SARSAT iU |

While on a wvisit to a pond 1n the city-neighbourhood, the visitors were delighted to

find large expanse ot water covered with colourful algal mass.

(a) As a student of biology, do you agree with their delight ? Give reasons in

support of your answer.

(b) Explain the cause of such algal growth.
9
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Qug — ¢
SECTION - D
25. (a) TIHTIRGd H Ycieh o Ueh—Ueh 3YANT hl IR hilol |

(A) Seaayd (WHAEHT)
(B) TN AT (AFRA THATNT)

(C) SIS 33 TH
(b) S T R WA 3TIE HRHA” o Ie3A! i [T HREHA H GH o ¢
=L ST | 3+2=5

YT
(a) Toheail el adienl ol THTST 5ok G STHSHH T SIS1] bl faenTd &l Hehd & |
(b) STHISHI- HHA I Teh A9 AT Teh Bl TR |

(c) TohuT UHT I HEHH hid & foh GehL SISl o1 IcqTG He' Tl Gl & 7 Y42 +1=5

(a) Explain one application of each one of the following :
(A) Amniocentesis
(B) Lactational amenorrhea
(C) ZIFT
(b) Prepare a poster for the school programme depicting the objectives of :
“Reproductive.and Child Health Care Programme”.
OR
(a) Explainany two ways by which apomictic seed can develop.
(b) List one advantage and one disadvantage of a apomictic crop.

(c) Why do farmers find production of hybrid seeds costly ?

26.  IUT GHTIAT (SHhite SITEHT) YT TEIHTIAT (hI-SITHE) H A T HINT | TIh &
Teh—Tsh 3GT8LUT <hl HRTIAT § 3T <hl ¥ HIT |
AT
(a) AT e @IeATd o 3 FHehIeH § = fTRad ST o ANTEH TARAT
SISt T, B ferg GUHT, ATl TRASH, Tel 3TehI3
(b) I g ITNUT H TIN5 e 1 Ao aaisy | 4+1=5

| 57/1/1 10
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27.

57/1/1

Differentiate between incomplete dominance and co-dominance. Substantiate your

answer with one example of each.

(a)

(b)

(a)
(b)

(b)

(€)

(a)
(b)

(a)
(b)

(€)

OR

Write the contributions of the following scientists in deciphering the genetic

code.
Georce Gamow ; Hargobind Khorana ; Marshall Nirenberg ; Severo Ochoa

State the importance of a Genetic code 1n protein biosynthesis.

S{iel o =k Terermeli g o 91d 3719eh 3TER “Eqy’ #1737

“foRelt STTfe ok ToTw THfE 1 3ATHR Teh T fdeh Y= I8i & |7 forelt &3 1 < 718 31afy |
TAY gcd ° §H 9T Iiadq oh ey | I A shi =R 1&g shilu |

31T
ST SRV T8 7
ST STIRHUT AT I[Sha AT STSHHUT hl Bl 3F-a¥eh USTTld qT =RH HHGM <hl

NELEA IS
Tgci¥eh STl STRAUT H oI 3Ta9eh JSiTid bl b 1ol shiehl W L LT g,

3eh! Tt SIS | 31 STIHAUN 6l Tfd TAfheh IR A g #ig 7 1+2+2=5

What 1s “population” according to you as a biology student ?

“The s1ze of a population for any species 1s not a static parameter.” Justify the
statement with specific reference to fluctuations in the population density of a
region in a given period of time.

OR

What 1s hydrarch succession ?

Compare the pioneer species and climax communities of hydrarch and xerarch

succession respectively.

List the factors upon which the type of invading pioneer species depend in
secondary hydrarch succession. Why 1s the rate of this succession faster than that

of primary succession ?
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